&L O0OH

Kerro desimaalit kymmenelld negatiivisella

potenssilla
Nimi: Paivimadra: Pisteet: ____
4471,6 x 0.01 = 4606,3 x 0.1 =
2928,4 x0.01 = 7329,6 x 0.01 =
7515,7 x0.01 = 9953,8 x0.1 =
1011,5 x0.01 = 6088,9 x 0.1 =

8161,5 % 0.0001 =

1301 x 0.0001 =

6821,9 x 0.001 =

4761,2 % 0.01 =

9805 x 0.001 =

1277 x 0.1 =

9347,5 % 0.0001 =

2723,9 % 0.001 =

2825,5x 0.1 =

4669, 1 < 0.001 =

5084 x 0.1 =

4525,5x0.1 =
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L R

Kerro desimaalit kymmenelld negatiivisella
potenssilla

4471,6 x 0.01 =44.716

2928,4 x 0.01 = 29.284

7515,7 % 0.01 = 75.157

1011,5x0.01 = 10.115

8161,5 % 0.0001 = 0.81615

6821,9 x 0.001 = 6.8219

4761,2 x0.01 =47.612

9805 % 0.001 = 9.805

1277 x 0.1 = 127.7

9347,5 x0.0001 = 0.93475

Paivamaara: Pisteet:

4606, 3 x 0.1 = 460.63

7329,6 x 0.01 = 73.296

9953, 8 x 0.1 = 995.38

6088,9 x 0.1 = 608.89

1301 x 0.0001 = 0.1301

2723,9 % 0.001 = 2.7239

2825,5 % 0.1 = 282.55

4669, 1 x 0.001 = 4.6691

5084 x 0.1 = 508.4

4525,5 x 0.1 =452.55
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